



Имя: \_\_\_\_\_

Дата: \_\_\_\_\_ Оценка: \_\_\_\_\_

$$(-9)^0 + (-8) =$$

$$6^{(-2)} - (-9) =$$

$$(-8)^0 + 10 =$$

$$(-2)^{(-1)} + (-8) =$$

$$(-5)^0 + (-1) =$$

$$(-1)^{(-2)} - 2 =$$

$$3^2 - 2 =$$

$$(-1)^{(-1)} + (-9) =$$

$$(-8)^2 + (-10) =$$

$$1^2 + 2 =$$

$$(-3)^{(-1)} - 10 =$$

$$1^2 - (-7) =$$

$$6^2 + 3 =$$

$$(-3)^2 - 2 =$$

$$3^{(-2)} - 3 =$$

$$7 + 8 =$$

$$1^{(-1)} + 5 =$$

$$(-2)^{(-2)} - (-4) =$$

$$6^2 + 5 =$$

$$6^0 - 5 =$$



Имя: \_\_\_\_\_

Дата: \_\_\_\_\_ Оценка: \_\_\_\_\_

$$(-9)^0 + (-8) = (-7)$$

$$6^{(-2)} - (-9) = \frac{325}{36} = 9\frac{1}{36}$$

$$(-8)^0 + 10 = 11$$

$$(-2)^{(-1)} + (-8) = \left(-\frac{17}{2}\right) = \left(-8\frac{1}{2}\right)$$

$$(-5)^0 + (-1) = 0$$

$$(-1)^{(-2)} - 2 = (-1)$$

$$3^2 - 2 = 7$$

$$(-1)^{(-1)} + (-9) = (-10)$$

$$(-8)^2 + (-10) = 54$$

$$1^2 + 2 = 3$$

$$(-3)^{(-1)} - 10 = \left(-\frac{31}{3}\right) = \left(-10\frac{1}{3}\right)$$

$$1^2 - (-7) = 8$$

$$6^2 + 3 = 39$$

$$(-3)^2 - 2 = 7$$

$$3^{(-2)} - 3 = \left(-\frac{26}{9}\right) = \left(-2\frac{8}{9}\right)$$

$$7 + 8 = 15$$

$$1^{(-1)} + 5 = 6$$

$$(-2)^{(-2)} - (-4) = \frac{17}{4} = 4\frac{1}{4}$$

$$6^2 + 5 = 41$$

$$6^0 - 5 = (-4)$$